| 4.7 pb~' (13 TeV)

+_
T T

Noow A

A

d°s/dp; 1dp, 1d0 [b/GeV?]

AA

o
O N D O O O MDOUTI—=OINOIWOIE 01O

d°s/dp4 1dp, 10 [Lo/GeV?]
O =~ N W A OO N

D W~ 01 OO0 N 0

O —

\ d°c/dp; 1dp, 1d¢ [ub/GeV?]

CMS-TOTEM

—)t )t )k

SO N A~ OO O O NN B>

d’s/dp; 1dp, 1d0 [b/GeV?]

—t ot —h, —h
ONPALOOODOOONPIA~O OO

SO NN B~ O

o
o
A

0.40 < py 1< 0.45 GeV 0.45 < py 1< 0.50 GeV 0.50 < py 1< 0.5 GeV 0.55 < py 1< 0.60 GeV

0.45 < p, 1< 0.50 GeV 0.50 < p, 1+ < 0.35 GeV 0.55 < p, 1< 0.60 GeV

0.40 < p, 1 < 0.45 GeV



